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Answer Sheet: Broad & Wide

Choose the correct answer.

Q1 - The car wastoo tofit in the space.
D wide
v" broad

L] Either

Q2 - Itwasstolenin daylight.

v" broad
wide

[]
D Either

Q3 - She'sgot a Scottish accent.

v" broad
wide

[]
D Either

Q4 - If an organisation istolerant of different viewsand opinions, it isa church.
v proad
|:| wide
Either
Q5 - Thedoor was open.
D broad
v wide

|:| Either
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Q6 - He stared -eyed at the mess.

D broad

v wide

Either

Q7 - Shehastravelled far and .

D broad

v wide

D Either
Q8-The terms of the deal seem fine, but some of the finer pointsdon't.

v/ Either
wide

[]
I:I broad

Q9 -They sl a range of products.

I:I broad
|:| wide

v" Either

Q10 -Hesaid it with a grin.

I:I broad
D wide

v/ Either
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